
(1) 𝑡𝑟 = 𝑖𝑟 + 𝑐𝑟 =
𝒏𝒐𝒊

𝑃𝑝 + 𝑐𝑎𝑝𝑒𝑥
+ (

∆𝑝

𝑃𝑝 + 𝑐𝑎𝑝𝑒𝑥
−

𝑐𝑎𝑝𝑒𝑥

𝑃𝑝 + 𝑐𝑎𝑝𝑒𝑥
)

∆

(2) 𝑐𝑟 ≅ (1 + 𝝏𝒏𝒐𝒊)/(1 + 𝜕𝑖𝑟) − 1 − 𝑐𝑎𝑝𝑒𝑥%
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(4) 𝑡𝑟 = 𝑖𝑟1 + 𝒈 
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(5) 𝑛𝑜𝑖 =  (𝑛𝑟𝑣. (1 + 𝑟𝑖%). (1 + 𝑠𝑚%) − 𝑚𝑐). (1 − 𝑣𝑎𝑐%)

(6) 𝑛𝑜𝑖 =  (𝑛𝑟𝑣. (1 + 𝑟𝑖%). (1 + 𝑠𝑚%) − 𝑚𝑐). (𝑜𝑐𝑐%)

 



 

https://www.insee.fr/fr/metadonnees/source/indicateur/p1641/documentation-methodologique
https://www.insee.fr/fr/metadonnees/source/indicateur/p1641/documentation-methodologique
https://www.insee.fr/fr/statistiques/serie/001617112%23Tableau



